Table Test
Caption Begin:
Table 4 Total, indirect, direct, specific, and direct effects among variables that test Hypothesis 3
Caption End.
	1$@112222 Risk outcome
	1$ Environmental conditions
	2$ Total effects
	2$ Total indirect
	2$ Specific indirect+
	2$ Direct

	0^
	EMPTY
	$ B (CI)
	$ β
	$ B (CI)
	$ β
	$ B (CI)
	$ β
	$ B (CI)
	$ β

	3^ Sexual risk
	^ Discrimination
	0.030 (-0.218,
0.292)
	0.030
	0.010 (-0.103,
0.121)
	0.010
	0.015 (0.005,
0.037)
	0.015*
	0.020 (-0.227,
0.273)
	0.020

	
	^ Working conditions
	-0.014
(-0.185, 0.157)
	-0.014
	-0.026
(-0.101, 0.035)
	-0.026
	-0.015 (-0.034,
-0.006)
	-0.015*
	0.012 (-0.158,
0.198)
	-0.012

	
	^ Living conditions
	-0.026 (-0.255,
0.199)
	-0.026
	-0.083 (-0.204,
0.022)
	-0.083
	0.002 (-0.007,
0.015)
	0.002
	0.057 (-0.204,
0.330)
	0.057


Footer Begin:
10% B is the unstandardized regression coefficient; 95% CI is the 95% bias-corrected bootstrap confidence interval of B. β is the standardized regression coefficient
*p < .05
+Specific indirect effects via problem drinking and contact with family
Footer End.
